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® 66cm? @ 121 cm? @864 cm?

@ 1331 cm? ® 132cm?

A= AAAE ol 6710l 2& Byol=
(12x12) x 6 = 144 X 6 = 864( cm?) YH T}




gt o] WolZk 16em? )1 5w A7E gyt 2Hole 2 om?

712

D)96 cm? @ 92 cm? ® 88cm?

@ 80cm? ® 76 cm?
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® 81cm? @ 100 cm? @121cm2
@ 144 cm? ® 169 cm?
(A5HA Q] 2y o) = (2 Hel Hol) x

49
(3 A Wol) =726+ 6 = 121(cm?)
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D)45cm? @ 48cm? ® 52cm?

(5x3)x3=45(7H)
1 x 45 = 45(cm3)
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D9 Bul=4x3x2=24
@2 HoE=3x3x3=27
@2 o 4x2x4=32
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@ 24cm? @ 25cm? 3®)28 cm?
@ 30cm? ® 34cm?

(AR 2 =(7h2)x (M Z)x (&°])
=2X7x2=28(cm?)
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@ 7}2 9cm, A2 4cm, =°] 3cm
@7]-1?’5 5.5cm, A2 6cm, 0] 4cm Q) ASHA
@ 712 4cm, A2 4cm, =0] 6cm @l Z-SHA

® 7F2 12cm, A2 3cm, 0] 2.5cm Q 2-SHA

~&B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5x6x4=132(cm?)
@ 4x4x6=96(cm?)
® 12x3x 2.5 =90(cm?)
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(BHel) = (71=) x (M=)

=(3F 249 do]) x (3 BA 29 do])
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O 864 cm? @ 576 cm? ® 240 cm?
@1488 cm? ® 1728 cm®

(18 x12) x 8- (5% 6) x 8
= 1728 — 240
= 1488( cm?)
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(7}) 10 x 6 x 4 = 240( cm?)
(L) 2x2x2=8(cm?)
240 + 8 = 30
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PRIV T+64+7+6=
(A5aAI2] ZHel)=(

=84 + 234
= 318(cm?)
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@ 240 cm? @ 300cm? @ 360 cm?
@ 420 cm? ($)480 cm?
(flollA] & mef)=(Eylol)
(21 & 2p)=(2%)
(BYlo)= (8x8)x2+ (8x4)x11
= 128 + 352
= 480( cm?)
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(SlolA 2 2F)=(EHel)
(1A £ mg)=(2%)
(B4lol) =(6x6)x2+ (6+6+6+6)x13
=172+ 312
= 384(cm?)
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(5x2)x2+(B5+2+5+2)x4
=20 + 56 = 76( cm?)




&
=

@(4+4)x2x4
@ 4x4x6

® (4x4)x2+ (4x4)x4
@ (4x4+4x4+4x4)x2

® Axd+4x4d+4x4d+4x4+4x4+4%x4
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® 13cm

(fdlel) = (ZHlel) - (Z4el) x2
= 2100 — (20 x 30) x 2
= 2100 — 1200 = 900( cm?)

(F4¥ol) = (B =8) x (&°l)
(&°l) = (d4lo]) + (B9 =4)

00 + (20 + 30 + 20 + 30)
00 + 100 = 9( cm)
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